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QUESTION 1

A six-node all-flash vSAN cluster has been deployed. Deduplication and compression are enabled. All virtual machines
are produced by policies with the rule Primary level of failures to tolerate set to 1.

How is a VSAN disk group impacted when the cache device belonging to that disk group fails?
A. The capacity devices are automatically reassigned to another disk group in the same host.

B. The cache device is marked "Absent". A capacity device is automatically promoted to a cache device to minimize
downtime.

C. The cache device is marked "Degraded". The disk group remains online with lower performance levels.

D. The disk group is taken offline.

Correct Answer: A

When a flash caching device fails, vSAN evaluates the accessibility of the objects on the disk group that contains the

cache device, and rebuilds them on another host if possible and the Primary level of failures to tolerate is set to 1 or
more.

QUESTION 2

Which two are vSAN networking best practices? (Choose two.)

A. Enable NIOC when not using dedicated network connections for vSAN networking traffic.

B. Use two or more vSAN VMkernel ports on the same subnet to configure MPIO.

C. Use 3 or more network connections for a vSAN VMkernel Port.

D. For hybrid configurations, use dedicated 1Gbps network connections or 10 Gbps shared network connections.
Correct Answer: AD

A: If you use a shared 10-GbE network adapter, place the vSAN traffic on a distributed switch and configure Network 1/0
Control to guarantee bandwidth to vSAN.

D: For hybrid configurations, dedicate at least 1-GbE physical network adapter. Place vSAN traffic on a dedicated or
shared 10-GbE physical adapter for best networking performance.

References: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.virtualsan.doc/GUID-7BDE36E12F06-4699-8D83-3694A0E638B5.html

QUESTION 3
Which format for desktops does vSAN support?

A. vimfsSparse
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B. SE Sparse Disk
C. Horizon Sparse
D. VSAN Sparse

Correct Answer: D

QUESTION 4

Which are two types of flash-based storage devices? (Choose two.)
A. M.2 HDD

B. NVMe SSD

C. SATA SSD

D. SAS Expander FD

Correct Answer:. AB

QUESTION 5

What is the result of powering on a virtual machine that is not compliant with its storage policy?

A. The virtual machine powers on in read-only mode.

B. The virtual machine becomes inaccessible.

C. The virtual machine powers on in a suspended state.
D. The virtual machine powers on successfully.

Correct Answer: B
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